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Q1. The teacher ____________ completed this chapter. 

A. have 
B. has 
C. is 
D. are 

  

Q2. Ram and Shyam __________ business partners. 

A. have 
B. has 
C. are 
D. had 

  

Q3. She ___________ her office by 9 a.m. daily. 

A. reach 
B. reaches 
C. reached 
D. reaching 

Q4. Rahul and his friends ___________ also invited to the party. 

A. is 
B. was 
C. had 
D. were 

  

Q5. Neither you nor your sister should ___________ to them. 

A. talk 
B. talks 
C. talked 
D. talking 



 

 

  

Q6. Twenty years _________ the minimum age to fill this form. 

A. are 
B. is 
C. has 
D. have 

  

Q7. A bouquet of flowers ___________ required for the event. 

A. are 
B. have 
C. has 
D. is 

  

Q8. A pair of socks ___________ been missing from my wardrobe. 

A. have 
B. has 
C. were 
D. is 

  

Q9. Much ____________ been said in the news reports. 

A. were 
B. have 
C. has 
D. was 

  

Q10. The information provided to you ___________ wrong. 

A. were 
B. was 
C. are 
D. have been 

  

Q11. The company ____________ of its stakeholders. 

A. think 
B. thought 



 

 

C. thinks 
D. thinking 

  

Q12. Either of the two dresses shall ____________ good. 

A. looking 
B. look 
C. looks 
D. looked 

  

Q13. Each and every member __________ to vote. 

A. has 
B. have 
C. having 
D. are 

  

Q14. A large number of soldiers ___________ died for the country. 

A. has 
B. is 
C. are 
D. have 

  

Q15. Half of the class ___________ empty. 

A. were 
B. was 
C. has 
D. have 

  

Q16. Physics ____________ difficult to understand. 

A. were 
B. are 
C. is 
D. have been 

  

Q17. The quality of food here ___________ gone down. 



 

 

A. have 
B. has 
C. is 
D. are 

  

Q18. My mother, along with others, ___________ worried. 

A. were 
B. are 
C. have 
D. was 

  

Q19. She ___________ not take a lot of stress. 

A. need 
B. needs 
C. needing 
D. has need 

  

Q20. None of the candidates ___________ responded. 

A. were 
B. have 
C. has 
D. is 

 


